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Part I :- Circle the letter corresponding to the correct answer :-

1) Find all critical numbers of
(x) = —x3+3x*>+5

A) x=-1,1

B) x=10 3

C) £=0,2

Dy x=0,-2

2) Find the absolute maximum dathal) alied) el 22 g) (2
of:f(x) = xe™?* DAf(x) = xe2*
on interval [0, 1] [0, 1] 8.5 2

© (2%)

Dy’ (0,0)

3) Determine where the function Ad)all 4y 310 <) 38 aa g (3
is increasing of f(x) = sinx + cosx

f(x) = sinx + cosx [0, 27r] 354l &
on interval [0, 2]

Ul
|

A) increaSing (E ,

4
B) 1néreasmg( g)
C \.;_I n - vt

) increasing (0 'Z) U (T ,Zn)
D)

increasing (0 )

N
N—
C
Ve
519
N
=)
N—




4) Determine all local extrema AJall ddaall g guall) abll 22 o) (4

f(x) =2xVx+1 f(x) =2xVx+1

A) x= —;is‘a locl min., X = 1is a locl max.

B) «x =—§ isalocl min: ,x=—1is q__l-dél max.

O X = % isa locl_,_mfir;. , x=-—1 ixgl:ii'locl max.

D), x = —% is alocl max., x :—1 is a locl mm
5) Identify inflection points for the | A)all CillaaY) Jaldi saa (5
function

1 f(x) = x+3(1—x)3
f(x)=x+3(1—x)3

A) (1,0 .
N

B) (-1,0)

0 @1

D), 'No inflection points i) bis 325y

6) Determine the intervals of the Aall Jel il & 38 s (6
function is concave up

A) concave up (0,x)

B) congav’e up(—o,0) yU (0,)

¥
C) concave up (—0)

D), concave up (—o0 )




7) Graph the function

fx)=

A)

WGraph Limited School Edition

C)

D)

BGraph Limited School Edition

8) Suppose that the charge in
electrical circult is

Q(t) = e %'(cos 3t — 2 sin 3t)
Coulombs. Find the current.

A) Q' (t) ='e 2t(— 3sin 3t _ 6cos 3t)

B) Q7 (t)

C)" Q’(t) = e %(sin3t—9 cosSt)

f@) ==

¢ ANl an ) (7

aph Linited School Edition

BGraph Limited School Edition

Al gt 3l & sl o ya B e (8
Q(t) = e ?*(cos 3t — 2 sin 3t)

—Zt(__—‘?,sm 3t — 6 cos 3t)

D) Q'(t) = e ?'(—7sin 3t — 9 cos 3t)

c O aa asles




9)Find the general antiderivative

5
f 2x2+2

o

5 .,
A) Eln_lc”xz +1|+¢

<
-,

B). 5 L =
7 tan ' (x +1)+c

5
© Etan‘l(x) +c

2
D) Etan‘l(x) +c

e
ok

10) Determine the position function
if the acceleration function'is

a(t) =12t> — 8 ft/s% v(0)

v =4 ,s5(0).=0

v

A) S(t) = t* — 4t* + 4¢

B) S(t) =t*—4t> + 4

!

O) S(t)r’*é 4t* — 8t? +:4"t‘

D). 'S(t) = t* — 8% + 4

a(t) = 12t

¢ dpall ABiEAl 22 ) (9

5
f 2x2+2

£ Jbedll A2 LS 13) auda gal) Ala 22a (10
—8 ft/s*,v(0)
=4+,5(0)=0




11) Write out all terms and g saxall 22 a3 3 gaad) asaa i8I (11
compute the sums Y+, cos(mi)

* L cos(mi)

A) Yijcos(mi) = cos(m) + cos(2m) + cos(3m) + cos(lin) =4

T
.

B\):;;; Z‘i‘zl cos(mi) ='cos(m) + cos.'(Z;lt) + cos(3m)+ cos(4m) = 0

C) Y1, cos(mi) = cos(0) + cos(m) + COS(i;T) +cos(3m) =0

D) Y cos(ﬂj) = cos(m) + cos (g) + cos (g) + cos (g) _ 2v§2+\/2

¥
dalica’ il Basaal) ANAl) ad andiu) (12

Algl) A aladiidy aial) ciaf Allaial)
4 1 ,Jn

12) Use the given function yalues to
estimate the area under the curve
using right endpoint evaluation

¥ x [00]01]02]03704]05]06]0.7]0.8
f(x)[2.024(26|27)2.6|2.4420/|1.4]0.6

A) A=1.81

B) A=174

C) A=1.67
S

D) A=6.47




13) Assume that fls fx)dx =17, fls 2g(x)dx = —4 and find

J73f() — g(x)dx

o

A) 25
B) 19
C)‘~,;2:3
W

D) 17

14) Compute the average value by | o5&l aladioly ddau gial) 4asdl) 4?33 (14
using geometric formula to Adjall Jal<ill alagy Aswaigd)

compute the integral [0,2] 558 & F(x) = V4 — x2
f(x) =v4 - xzk.,(')n the interval
[0, 2] i )

A) Average =m

B) A.f?;e;ﬂage =2m.

A

Cy Average = -

D) Average =

N|A S

5
15) Evaluate f (sin’x + cos*x)dx
0 |

A) 1




Part I1 :-
16) A square sheet of cardboard 24 in is made into open box ( there is no
top ), by cutting squares of equal size out of each corner and folding up
the sides. Find the dimensions of the box with the maximum volume
Qo o) o cs’m Aotia Jes oy 24 Wala Joh (g ghall (3500 (a day e 489 (16
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17) A 10ft ladder leans against the side of a building. If the bottom
of the ladder is pulled away from the wall at the rate of 3ft/sec,
and the ladder remains in contact with the wall

Find the rate at'which the top of the Iadder is dropping when the

bottom is 6 ft from the wall.
8 1 alualh G (Aladd) 5 5d) s 3 13) glall cals uk-lOft dsheluﬁ-ua 17
a-‘uﬂ gl il J-"-‘ dm a9 Ll LSl aludl (A, 3fE/seC Jiray Jland)
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18) Suppose that a populatlon Srows. accordlng to the equatlon p'(t) =
2p(t)[1 — p(t)] (logistic growth with r = 2 Flnd the population for
which the growth rate is a maximum
p'(t) =2p (H[1 - p(D)] ‘JAMUuhuuaM\ salll o pa b e (18
dagdll oo gaill Jana 48 (98 A Al il 2 gy = 2 aladiialy i sl Alalaall

gl




19) Use Riemann sum and a limit to compute the exact area under the
curve f(x) = 4x — x on the interval [0, 3].

f(x) = 4x% — x adall cad Aidal daluall s o) gl g Olayy £ gada aladiuly (19
[0, 3] 5l 3

"
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